2AX:
X{XH -
o e

chel:

2 X2l Al

SSAEEZIN

Nl = 0l &

20233 =& 1 3 LetelH LB M

KB HEESH(AY - SAIILLANER/MHEE - DESH

Ab & & Al A

SA -2 - SA(3) - MRAY - BHAS Oi &roK JE N Hlws2
Xt ZH ot 27,489,041 25,071,684 2,417,357
= 431,948 203,948 228,000
s 2,087,476 1,538,270 549,206
J| 150,696 134,696 16,000
== 3,586,270 2,895,835 690,435
Al 14,577,660 12,804,928 1,772,732
CH 600,000 600,000 0
= 6,054,991 6,894,007 839,016
KNSEBMELSH (A - SAILHLUHEX/AMHEE - NS5 15,681,560 15,254,048 427,512
= 7,873 7,873 0
= 523,000 73,000 450,000
< 1,416,495 936,087 480,408
Al 8,901,192 7,587,088 1,314,104
= 4,833,000 6,650,000 1,817,000
HSAEZ NS 825,104 500, 104 325,000
s 73,000 73,000 0
== 151,997 75,497 76,500
Al 600, 107 351,607 248,500
SEANEEZINS 136,600 65,600 71,000
401 Al &EHIZL LY 121,000 50,000 71,000
01 Al&Hl 121,000 50,000 71,000
OBEANE 28 =2tH WX
71,000,000 1Al 71,000 0 71,000
()= HE AL 96,943 97,943 1,000
= 58,000 58,000 0
Al 38,943 39,943 21,000
401 Al &EHIZL LY 96,943 97,943 A1,000
= 58,000 58,000 0
Al 38,943 39,943 21,000
01 Al&Hl 96,943 97,943 A1,000
Og= SEAE =XE F=I2HAIAE 22
1A 96,943,000 96,943 97,943 A1,000
sy 58,000 58,000 0
Al 38,943 39,943 A1,000
(Z)SHINNE SEAMS(2IREXIA) 255,000 0 255,000
< 76,500 0 76,500
Al 178,500 0 178,500
307 212t01™ 255,000 0 255,000
== 76,500 0 76,500
Al 178,500 0 178,500
02 QIRHBAIAEE R 255,000 0 255,000
OSHSIANE SHAIG(HASI|EEY)
127,500,000 %21 A 255,000 0 255,000
< 76,500 0 76,500




2AX:

2 X2l Al

HE: XNAEMEL (A - SAILLHHX/MHEE - DEF)
EHel HSAEEZ NS CEERD
SA - FH . C(32) - MISAY - BAS IR )5 o ClImE=rT}
| | Al 178,500 0 178,500
HEAMNE & XNSZNELS 14,760,246 14,657,734 102,512
s 450,000 0 450,000
== 1,247,088 843,180 403,908
Al 8,230, 158 7,164,554 1,065,604
= 4,833,000 6,650,000 1,817,000
ZEXE L HEANE 435} 90, 186 98,910 AB,724
201 L2 Y| 33,116 36,240 A3,124
01 At22teld| 23,116 26,240 A3,124
OHSAIE L AFEIL 845 FR(0aE2)
AA 4,000,000 4,000 5,000 21,000
OXSAIE 2| HH2U HE - P2 (0lAE2)
23 10,800,0002 10,800 12,000 A1,200
OXSAIE 2| O A - 2 (oflarE2)
A 2,700,000 2,700 3,000 A300
ONEAT &435} S0 HE - 2 (0AEY)
AA 1,296,000 1,296 1,440 A144
O&ARITHE: 24 M AN MIZ - R (0laE2)
23 540,000& 540 600 A60
OXSAIE 2| E0 Xt LXHI(0lAHEZ)
23X 1,080,000 1,080 1,200 A120
OSSAME =& HAEX(Z2RA) URS
(Ol AR ) 2R 2,700,000 2,700 3,000 A300
203 JFF&H| 18,900 24,500 25,600
03 AIBFRARZ=AIH| 18,900 24,500 25,600
OZHAE=T A MFRHARFEIY| 18,900 24,500 25,600
—FQAIE SOt =ZT(0AEZ)
Z2& 6,300,000 6,300 7,000 A700
—XSEEHESS 22 FT(0lAEZ)
AA™ 2,700,000 2,700 3,000 A300
—ENRX A2 FA(0AEZ)
ZA 6,300,000 6,300 7,000 A700
—EHCHIHE MR PR FE(ZZINH)
323 0 0 3,000 23,000
—REXE AR FA(ZFIHH)
2E 0 0 1,500 A1,500
—EZES AR FA(0AEY)
23 900,000€ 900 1,000 A100
— WS AR FE(CAEZ)
Z2& 900,000 900 1,000 A100
—AE=T R FR(0AEY)
23 900,000 900 1,000 A100
-3 AR FA(ZFIHH)
900,000 14] 900 0 900
TDZ2LH9 SR SAIE & AEI 2 AN 79,200 88,000 28,800
201 et 3| 79,200 88,000 28,800
01 AtR2elt] 79,200 88,000 28,800
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A LXeIZH
3 NS ML
ool dSAE & X

0x

ASMES (ctel: me)
SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
= 980,000 705,000 275,000
Al 2,287,000 1,645,000 642,000
= 4,833,000 6,650,000 1,817,000
301 LEt2d= 8,100,000 9,000,000 900,000
< 980,000 705,000 275,000
Al 2,287,000 1,645,000 642,000
= 4,833,000 6,650,000 1,817,000
14 JIEIE A3 8,100,000 9,000,000 900,000
OYFA &t 2
23 80,000,000,0002*10% 8,000,000 8,900,000 A900,000
< 980,000 705,000 275,000
Al 2,287,000 1,645,000 642,000
= 4,733,000 6,550,000 1,817,000
(D)HSAIE 24 & 76,320 98,880 222,560
< 20,606 26,698 26,092
Al 55,714 72,182 A16,468
307 212t01™ 76,320 98,880 222,560
== 20,606 26,698 26,092
Al 55,714 72,182 16,468
02 QIRHE &AL 76,320 98,880 A22,560
OHEANE S=ZFULN 29
A 25,440,000 *3I A 76,320 98,880 A22,560
== 20,606 26,698 26,092
Al 55,714 72,182 /16,468
2201 SeHkIAdl 608,000 600,000 8,000
401 AIEBIZL 08| 8,000 0 8,000
01 Al&H| 8,000 0 8,000
oAz =& 2t AR
4,000,00021524! 8,000 0 8,000
SREZUZ Rl 22 9,240 0 9,240
201 LEt23H| 9,240 0 9,240
01 At22teld| 9,240 0 9,240
OBFEU3 HAE8Y 880,000&*8& 7,040 0 7,040
OSREHS ==Y 550,000 *43] 2,200 0 2,200
HSAE A KA 41,000 0 41,000
307 212t01™ 41,000 0 41,000
04 QIZFSHAIAIR E X 41,000 0 41,000
ONSAE 243 HAH XA (XS 90%)
41,000,000 %1 Al 41,000 0 41,000
ANEZSINIIXIALS (2OHEEEXA) 4,664 0 4,664
307 212t01™ 4,664 0 4,664
02 QI2+A &AL 4,664 0 4,664
OAEZSIIIXIAFL (1JHA)
23,320,000 %11 2+20/100 4,664 0 4,664




SA: LXRIZH D
Ha:

chel:

SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
2322 L AN (AZIEX/ = 5) 6,038,220 5,167,240 870,980
= 207,200 179,200 28,000
s 1,564,476 1,465,270 99,206
< 947,398 817,371 130,027
Al 2,475,139 1,861,392 613,747
CH 600,000 600,000 0
= 244,007 244,007 0
2322 & HHOHA 6,038,220 5,167,240 870,980
= 207,200 179,200 28,000
s 1,564,476 1,465,270 99,206
o= 947,398 817,371 130,027
Al 2,475,139 1,861,392 613,747
cH 600,000 600,000 0
= 244,007 244,007 0
FHY & MHorHE KA 35,040 36,020 2980
201 et 3| 28,320 29,300 2980
01 AtR2telt] 11,120 12,100 2980
OFAYMARZ| 3|0 HAE4Y(MAEZ)
ZA 1,890,0002 1,890 2,100 A210
OHEAFMEOIN D39 EM4-SHHAIEZ)
43 3,780,000& 3,780 4,200 2420
Ogxe|fldsl glo A4-ZH(olaEZ)
AA 1,260,000 1,260 1,400 A140
OAIBI B NIRIAS 3o E-SH(HAEZ)
ZA 1,890,000 1,890 2,100 A210
(VAR EI Y NASSHAIS 80,000 40,000 40,000
= 56,000 28,000 28,000
< 7,200 3,600 3,600
Al 16,800 8,400 8,400
307 212t01™ 80,000 40,000 40,000
= 56,000 28,000 28,000
< 7,200 3,600 3,600
Al 16,800 8,400 8,400
02 QIZHEAAIIE X 80,000 40,000 40,000
OASIZI IS XIS ESHAS
23 80,000,0002 80,000 40,000 40,000
= 56,000 28,000 28,000
< 7,200 3,600 3,600
Al 16,800 8,400 8,400
g%)%‘%ZAPiIE%WIi*t%IPEI(II%$E§§'¢%IPEI 121,850 109,650 12,200
s 57,200 51,000 6,200
< 24,645 17,595 7,050
Al 40,005 41,055 A1,050




2AX:
X{XH -
o e

chel:

SA -2 - SA(3) - MRAY - BHAS Oif o JE N Hlws2
301 Let2dE= 32,390 17,850 14,540
= 7,500 0 7,500
< 12,715 5,355 7,360
Al 12,175 12,495 A320
01 A BEE2HS(2DEZME) 15,000 0 15,000
OZ=E A XA FELX I XAAS (QIHIEIS)

15,000,000 x 14! 15,000 0 15,000
= 7,500 0 7,500
< 7,500 0 7,500

03 MBI BEX 252 (XILTHA) 17,390 17,850 460

OZ=E ARIEZH FEgXiel N2A

(H=R22) AR 17,390,000 17,390 17,850 460

& 5,215 5,355 2140

Al 12,175 12,495 A320

307 212t01™ 89,460 91,800 A2,340

= 49,700 51,000 A1,300

< 11,930 12,240 A310

Al 27,830 28,560 AT730

02 QIZHBAASEEE 89,460 91,800 A2,340
OZ=E Mg =AM FEXtel X2 A (2128])

2 89,460,0002 89,460 91,800 A2,340
= 49,700 51,000 A1,300
== 11,930 12,240 A310
Al 27,830 28,560 AT730

MBI BBMA2HEH 25 & 2 181,970 172,000 9,970

405 KHAHE S| 9,970 0 9,970

01 AL =SS FHSHI 9,970 0 9,970

OMIEZNXI2HE 23 9,970 0 9,970
—ZFEH 2 FLE(38)

1,500,000 *2CH 3,000 0 3,000

— A& A 250,000& =104 250 0 250

— A4 oIk 240,000& 1K 240 0 240

—AR4 0IsAE 160,000 %18 160 0 160

—IIElAE 280,000&*2H 560 0 560

—3lolH0I2 390,0002 *6H 2,340 0 2,340

—g2iols 350,000 *6 1 A 2,100 0 2,100

—3lola oIkt 110,000 * 12} 1,320 0 1,320

(DDASBHEEEUS XML (XS =E8HEHL R 77,220 73,890 3,330

Atd)

= 34,526 33,000 1,526

< 21,347 20,445 902

Al 21,347 20,445 902

308 KtXIHHMSO0I& 77,220 73,890 3,330

= 34,526 33,000 1,526




2AX:
X{XH -
o e

chel:

SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
= 21,347 20,445 902
Al 21,347 20,445 902
11 I 2SO HEHE & E 2 AL 77,220 73,890 3,330
OAZSEE 2elUE XIZA
1A 77,220,000 77,220 73,890 3,330
= 34,526 33,000 1,526
== 21,347 20,445 902
Al 21,347 20,445 902
(D)I=SHFEHACNAMNL (RS =EEHEHL R 105,000 127,500 A22,500
Ated)
s 34,500 41,250 26,750
== 35,250 43,125 AT,875
Al 35,250 43,125 AT,875
308 KtXISHMSO0I& 105,000 127,500 A22,500
= 34,500 41,250 26,750
< 35,250 43,125 AT,875
Al 35,250 43,125 AT,875
11 BI1 2SS B A ELAEAIS Y] 105,000 127,500 222,500
OI=EZE FEEE TN2AY
2R 105,000,000 105,000 127,500 222,500
= 34,500 41,250 26,750
< 35,250 43,125 AT,875
Al 35,250 43,125 AT,875
(2)HEHLRHOIE XA (N HFCEH AU L 143,300 137,080 6,220
Ated)
= 55,250 52,140 3,110
Al 88,050 84,940 3,110
307 212t01& 143,300 137,080 6,220
s 55,250 52,140 3,110
Al 88,050 84,940 3,110
02 CIZHEAAIRIE X 143,300 137,080 6,220
OFEFEY CIRHI0IE XA
ZA 143,300,000 143,300 137,080 6,220
sy 55,250 52,140 3,110
Al 88,050 84,940 3,110
(I LY LT AN (NS FCEHHEHUTI2IAY) 170,800 140,560 30,240
= 70,500 55,380 15,120
Al 100,300 85,180 15,120
307 212t01 & 170,800 140,560 30,240
ay 70,500 55,380 15,120
Al 100,300 85,180 15,120
02 QIZHEAAIRIE X 170,800 140,560 30,240
OHEAEY g XA
ZA 170,800,000 170,800 140,560 30,240




2AM:
X{XH -
o e

chel:

2 X2l Al

RIAHOAN
g o
el
S5 & HYory

b

2A -3 - A(FH) - HIRA - BEZ Ofl &toH J &3 N Hlwsz
= 70,500 55,380 15,120
Al 100,300 85,180 15,120
(A EEN LA 2SAL 100,000 0 100,000
= 50,000 0 50,000
Al 50,000 0 50,000
307 2I2+0| ™ 100,000 0 100,000
= 50,000 0 50,000
Al 50,000 0 50,000
02 DIZMHAAIEE X 100,000 0 100,000
OANBIHAM ELHAH PHAL
100,000,000 %1 A! 100,000 0 100,000
= 50,000 0 50,000
Al 50,000 0 50,000
A OIAHIE KIAAS 25,000 0 25,000
301 YEEES 25,000 0 25,000
14 J|Et2AS 25,000 0 25,000
O&Y 0lAHIZ X2 500,000 %50 25,000 0 25,000
()22 A8 HI=UA HEAT2IALY 64,500 0 64,500
z 30,000 0 30,000
[= 10,350 0 10,350
Al 24,150 0 24,150
301 LBt N3 10,500 0 10,500
[= 3,150 0 3,150
Al 7,350 0 7,350
03 AI2| 2 & E 46 2( XIS THH) 10,500 0 10,500
OZE 248 HIZUA HEAATRIAIL (BRI ES)
10,500,000 14! 10,500 0 10,500
[= 3,150 0 3,150
Al 7,350 0 7,350
307 2I2+0| ™ 54,000 0 54,000
= 30,000 0 30,000
[ 7,200 0 7,200
Al 16,800 0 16,800
02 DIZMEAAIEE X 54,000 0 54,000
OZS A& "HIZUA FHAX2A(l24H])
54,000,000 x 14! 54,000 0 54,000
= 30,000 0 30,000
[= 7,200 0 7,200
Al 16,800 0 16,800
ZESRH HESH) |2 FHYelmet MEHIAL 345,000 0 345,000
402 BI2FXH=0|A 345,000 0 345,000
01 QI AN 2R (REHITHE) 345,000 0 345,000
OZ=ESRd HEEaI |2 FHIoZet THEHIAMY
(EXE 90%) 345,000,000 * 14! 345,000 0 345,000




SA: UXRIZRID
M DOz o XY
CHol: 2222 2 X0

SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
(A2 Sat &S 2l X A 232,000 0 232,000
== 116,000 0 116,000
Al 116,000 0 116,000
307 212t01& 232,000 0 232,000
< 116,000 0 116,000
Al 116,000 0 116,000
02 QIZHEAAIRIE X 232,000 0 232,000
OAlZ S35 &t 2Xie| X3 AIS(ZR LS E AIS
86,000, 00021+ 14! 86,000 0 86,000
< 43,000 0 43,000
Al 43,000 0 43,000
OvlEd S40|Y - DIEEHY X2 AF(F=E
HE® ALE) 146,000,000 & * 14! 146,000 0 146,000
= 73,000 0 73,000
Al 73,000 0 73,000
A s L NAAE SAE XA 20,000 0 20,000
301 Let2d= 20,000 0 20,000
14 J|Et243 20,000 0 20,000
O&FY o & IHHAIE SAZE XA
200,0002*100Y 20,000 0 20,000
HIOIHAHOIA SHAI(2IIEEXIA) 6,000 0 6,000
307 212t01™ 6,000 0 6,000
02 QIRHBAIAHEE X 6,000 0 6,000
OHIOIHAHIOIA 2SAI
6,000,000 %14l 6,000 0 6,000
HIEX +=3er™ (&t - SAIIL LU X/ HIHXI L XH2O0) 5,477,264 4,545,944 931,320
= 216,875 16,875 200,000
J| 150,696 134,696 16,000
< 1,222,377 1,142,377 80,000
Al 2,909,332 3,251,996 N342,664
= 977,934 0 977,984
ORIt & SSHE 5,461,264 4,545,944 915,320
= 216,875 16,875 200,000
J| 134,696 134,696 0
< 1,222,377 1,142,377 80,000
Al 2,909,332 3,251,996 A342,664
= 977,934 0 977,984
Ol X| erdzte| 360,880 246,374 114,506
201 23| 4,446 4,940 A494
01 At22teld| 4,446 4,940 A4
OJtACHMRE| SEBMCH(MlAIEZ)
2 720,000 720 800 A80
OUIHXI B SEX(0AEZ)
23 720,000 720 800 A80




A LXeIZ M

I QUK >SHE (MY - SAISLAE X/ HIEHRIZLXRO0L)
]

2l OiUXISHE 2 200N

SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
OJIA 2 oIUXIE S SBHAL HIZH(0AEZ)
23 900,000 900 1,000 A100
OIMAERHE ANZH I P (0aE2)
28 720,000 720 800 280
OZAIASSR ARG BN 0AE2)
23 630,000 630 700 AT0
O=sMYE2(AS A (0AEZ)
A 756,0002 756 840 N84
402 CIZHRHE0|N 355,000 240,000 115,000
01 CIZEXH= A B2 (KERITHE) 355,000 240,000 115,000
OZHA0IZXY TADIA BZAI(BEE 60%)
ZA 315,000,000 315,000 200,000 115,000
(DILPCAE M EHIZ Z AL 1,337,934 0 1,337,984
= 200,000 0 200,000
< 80,000 0 80,000
Al 80,000 0 80,000
= 977,934 0 977,984
402 CIZEXHE0|N 1,337,984 0 1,337,984
= 200,000 0 200,000
== 80,000 0 80,000
Al 80,000 0 80,000
= 977,984 0 977,984
02 CIZEXHEAIH 2 (0| X THEA) 1,337,934 0 1,337,984
OsHELPCAE MY T E2AIS (MSA
BHA " (S)LPCASMAHIAE S A "0IA)
1,337,984,0002 % 14! 1,337,984 0 1,337,984
= 200,000 0 200,000
< 80,000 0 80,000
Al 80,000 0 80,000
= 977,934 0 977,984
(ZILPGAEMEHIZZAIS 750,814 1,337,984 AB87,170
== 180,000 180,000 0
Al 570,814 1,157,984 AB87,170
402 CIZHRHE0|N 750,814 1,337,984 AB87,170
< 180,000 180,000 0
Al 570,814 1,157,984 AB87,170
02 CIZEXHEAIH 2 (0| X THSA) 750,814 1,337,984 AB87,170
OsHELPCAE MY T B2AIS (MISA
BHA " (I)PCAEMAHIAEZAMA"CR)
323 0 1,337,984 A1,337,984
== 180,000 180,000
Al 1,157,984 A1,157,984
OsHELPCAEHAHT E2AIY
750,814,000 x 14! 750,814 750,814
< 180,000 180,000




S LXAelZH Bt
& AflUXl +=2ZHE (A - SAIILLOUIE X/ AIH XL RE2ION)
=]

Rl oAt & S30HA CEEE)
SA -2 - SA(3) - MRAY - BHAS Oif o JE N Hlws2
| Al 570,814 0 570,814
(Z)SXAE HIEX &AL 50,000 0 50,000
402 2IZ2EXHE01M 50,000 0 50,000
02 RIZEXHEAIH 2 (0| X THSA) 50,000 0 50,000
OSXIAE ORI B AN (20224 AANIHI)
50,000, 00021+ 14! 50,000 0 50,000
YEAFHIY 2] 16,000 0 16,000
J| 16,000 0 16,000
()LNLZ=EHIA X2IAY 16,000 0 16,000
7l 16,000 0 16,000
402 RIZHXHE01H 16,000 0 16,000
7l 16,000 0 16,000
02 CIZEXI=2 AL B (0| M TS ) 16,000 0 16,000
OLEAFHISA X2AAL
16,000, 0002 1Al 16,000 0 16,000
J| 16,000 0 16,000
HY2HAY|(LR2IZ M) (JIEHIIEL 97,830 104,452 N6,622
JlE23dl 97,830 104,452 16,622
JlE23l 97,830 104,452 6,622
201 22| 23,79% 24,832 A1,036
01 AtR2elt] 23,79 24,832 1,036
OAR2 =HI(HaEZ) 7,326 8,140 A814
—ZADI(HE) %2 AR 900,000 900 1,000 A100
—ZglFI| =2l X 180,000 180 200 A20
—=SAD| EYH 23X 900,000 900 1,000 A100
—ZRIED| EH(S)
AA 3,600,000 3,600 4,000 A400
—I2IEJ| EH(Zd)
23 900,0002 900 1,000 A100
—PC =2l A 306,0002 306 340 N34
—DJIEt =2lbl A 540,000 540 600 AB0
Oditx=2 (0lAE2)
ZA 1,080,000 1,080 1,200 A120
OJIEF AFSZ2IHI(0IAHEZ)
Z2& 918,000 918 1,020 A102
202 O4dI 62,424 67,320 4,896
01 2U0ddI 62,424 67,320 4,896
OLIoiLI(ofl A=)
A 44,064,000 44,064 48,960 A4,896
203 R =8| 6,210 6,900 2690
01 J|22HHRFAH| 2,970 3,300 A330
OZHMAA=E I 2H2HLRFTHI(HAE2)
ZA 2,970,000 2,970 3,300 A330
04 EA2IHRFEHI 3,240 3,600 2360




A LXeIZ M
SH X

A AHH2AHH|(LX2IZNMD) (DIEHIIE
Rl D123l (S M)
2A - - HR(3H]) - NISAY - BES Oi| &K Jl & o [ ImE=r2y
ORNSILRZRY| (Gl AHE )
FH 3,240,000 3,240 3,600 2360
PSS (LXI2IZMD) (A - SAILLOU X/ A - SA 194,167 0 194,167
Jlggur)
SEXNE 194,167 0 194,167
SEXE 194,167 0 194,167
802 BH&t=D|E 194,167 0 194,167
01 2NBx2e= 161,290 0 161,290
02022 & 70,8% 0 70,896
—2022 AJ|PALATO LHSEH| XIRAY
70,797, 120 % 1Al 70,798 0 70,798
—2022 AJ|PAATO HHSEH| XRAIY
(OIXH) 97,6802 %14l %8 0 98
O201E = 90,324 0 90,324
—20218 AJ|PAABOl LASEH| XA
90,284,000 x 14! 90,284 0 90,284
—20218 AJ|PAAZO HHSEH| XRAIY
(OIXH) 39, 1802 %1 Al 40 0 40
0201849 < 70 0 70
—2018 AMSIED|Y UXI2IZE AL (OIR})
69,7102%1A! 70 0 70
02 Al - SHIBXZEHE2 32,877 32,877
O201E & 11 0 11
—20214 U0l AT MSAIE 220! ZaE
X2 AL (OIXH) 10,380%1 Al 11 0 11
020203 & 32,866 0 32,866
—2020 HUSE RLO2ME
32,843,600 x 14! 32,844 0 32,844
—2020 HUHSE SLUTIZME(O|XY)
21,1902%14] 22 0 22




